Mean Spectrum Continuum Lightcurve
rm786 Fe2 20040% 35740 km/a rm786
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RMS Spectrum BLR Lightcurve
rm786 BLR 9880 NLR 900 km/s rm786
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x(\t) = ( Data — Model A ) /o x Corrections
X*/(409230-5213)=5.586=>1.009 w rm786
M LY L — T 1 T T T T T T T 1 T T T T I
] 3 ]
o | ]
© - <4
o~
o[ ]
58 - -
E v\"".‘ i Pl el ity 3 1
H |
c — I b
: I ]
Ev ! [ 1
3 B e i 1
2 | ]
n T l ]
o R AR T A
= e !‘MWWIMMHw e [ ]
s HJW s kbt gt o i g !
| ‘e ‘H SR A ke i T, A prd ‘MM”« Jm‘h“.m iy 2 r 1
L s s v ! e A A T A A A L ,“‘Hh i ol o e e
1500 2000 3000 ..o °© 7000 7500 8000 8500 9000
bad:166=0.041% A (R) z = 2.04246 MJD — 2450000
u = 0.180(57) x = 2.09(23) => 2.09(23) 4= —0.11(1.10) x = 1.294(110) => 1.294(110)
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